P34

372@ ~—3 = the page in the right side /

Laf <topic particle>/

A?j:t B*i@ %%%Tﬁbﬂ EXD E m%\ = the information of overseas moving services of a
company A and B

* %% = invitation, bidding; awareness; acquaintance; information, knowledge; lore; guide;

sights-man /
Tdh 5, = <plain-style-nonpast-affirmative> of ‘[na-adjective / noun] Td D £ 9 which is more

formal than ‘[na-adjective / noun] T3 =is (are, am, etc) //

The page on the right is the information of overseas moving services of a company A and B.

UTc fcly

TD F'nﬁb\ IEXI9 % KZ_ & LT = as the answer for the following question N2 No.1, No.9 /
;% KWL HD =best thing /

%Z <direct-object partlcle>/

1:2:-3-4Hh5 — EU &, = choose one from 1, 2, 3 and 4.

* [masu-form] 7& & LY = Do ~ | (command, order)

H

Choose the best answer from 1, 2, 3 and 4 as the answer for the following question.

Fv¥>3E A =MrChan/

\d <topic particle>/

EIL%E = next month /

)ﬂ?l@'é 2IC. = When (X) goes back to his country N2 No.137

* Jﬂ?l@“% <plain-style-nonpast-affirmative> of J-Fﬁl L ¥9 g3 = return to one’s own country /
A?j: = company A/

Z <direct- object particle> /

%Uﬁkﬁé LT= *UFH@“%O ZU7T. =useand .. ]

*FMAT S = <p|a|n-style-nonpast-afflrmatlve> of %U‘kﬁé L £9 g3 = use, utilize, put to practical

use; take advantage of
* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well.

[ AV [l

5l#%Z 9 % = <plain-style-nonpast-affirmative> of 5 It% L &9 g3 = move (house), change
residence

0oL 3]

*ElliE ULET =

C

Z

LEd =3@LET/
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LTW
T CTdh D, =<plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective] da’
LTWn

and ‘[noun] da’ becomes ‘na’ and ‘no’ respectlvely)] FETHD XTI’ (itis scheduled that ~

L TW

plan to do ~) which is more formal than FE C79".

When Mr Chan returns to his country next month, he plants to use a company A and move.

%ﬁ‘ﬁ% = luggage, suitcases, cases and bags carried by travelers, baggage /

hY <subject particle> /

bﬁf%ﬁl’ = more than ten boxes /

&% % = <plain-style-nonpast-affirmative> of 3% D &9 g1 =there is ~, have ~, exist /

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~ /
7&%’\ < =as much as possible /

DESEA

ZZ\:\ & T = with a cheap fee

) D*iféh = fee, charge, fare /

% D 7z L\ = <plain-style-nonpast-affirmative> of 'O fc\WT9 =want to send

* [masu-form] 72W\\T9 = want to do ~ /

H. =but,/

Z® 3% =among those things /

iﬁié 9 <IC £S5 H D =the things which (X) use immediately after returning to his country
* ﬁ') = <plain-style-nonpast-affirmative> of ﬁb\i@“ gl =use/

hHY <subject particle> /

[=4A <
A > Tz 5% = the five boxes which (X) entered
=4 =4
* Ao fc = entered = <plain-style-past-affirmative> of A D &3 g1 = enter, break into, join,

enroll, contain /
— the five boxes among all which contain the thing which he uses right after returning to his

country /
Lat <topic particle> /

’J‘ b alittle, a few /
feh
= < TH L\ = <plain-style-nonpast-affirmative> of &< TH LWWTT =itis OK to be

expensive
* [te-form] H LWL\TT =may do ~, itis OK to do ~

* To make the te-form of an i-adjective, we change the last ‘i’ of an i-adjective into ‘kute’. And to
make the te-from of a na-adjective, we add ‘de’ to a na-adjective without ‘na’. /

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M C = because ~ /

Fv >

B < &< &£3IC =sothat (X) arrives early

* & < = <plain-style-nonpast-affirmative> of &Z £ 9 g1 = arrive, reach

* [dictionary-form / nai-form] & S I = so that (X) do ~ /
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&< &<
ED 12U\, = <plain-style-nonpast-affirmative> of i XD =L\ TJ = want to send
* [masu-form] 7zUL\C9 = want to do ~ //

Because there are more than 10 boxes of baggage, he wants to send them with a low fee as
much as possible, but regarding the five boxes among all which contain the things that he uses
right after returning to his country, he wants to send them so that they reach early. He doesn't

mind even if the fee is a little expensive. 8-

F+ > A =MrChan

|& <topic particle> /

E> =how/

U7z 5 L\ = <plain-style-nonpast-affirmative> of L 725 LWLWTI = should do
* U fc = did = <plain-style-past-affirmative> of L &9 g3 =do

* [plain-style-past-affirmative] 5 L\LWT ™ = should do /

H <question particle> //

What should Mr Chan do?

§<‘ H D = the things which he must do (send) quickly

* L%;'?C < = <plain-style-nonpast-affirmative> of g%‘i@“ = hurry

|& <topic particle> /

72 >@7T =by mens of a plan D

ZD ﬁ%@ H D = other things, another thing /

|& <topic particle> /

72> (@T =by means of aplan @ / \

x5, = <plain-style-nonpast-affirmative> of % NDFXI gl =send//

He should send what he must send quickly by a plan (D and should send other things by a plan
@. &

2 no translation
3 no translation
4  no translation
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L WA H b1

St EDEHET A = Mr Arita who is an employee of a company /

|& <topic particle> /
nNiFDo <

34 B2l = three months later /

MrVHBWL T A

BN XJE = overseas branch /

IC <arrival particle> /
ThEh

r$h9 % Z &IT 718>z = It has been decided that (X) would transfer = <plain-style-past-
ThZEh
affirmative> of 21972 Z & mD F£T =it will be decided that (X) transfer
ThEA

* BR ¥ 9 % = <plain-style-nonpast-affirmative> of @:EJJ U %9 g3 = transfer
* [dictionary-form / nai-form] Z &€ 7& D ¥9 = it will be decided that ~, it has been decided
that ~ /

It has beed decided that Mr Arita who is a company employee transfers to overseas branch
three months later.

Wo L & b\

—i#glc 17< %2739& = the family members whom (X) go with /
|& <topic particle> /

%'C D %E = the life in a foreign country /

h' <subject particle> /

%567)’( X DT, =because (X) is for the first time,

*_ ODT = [plain-style (but, ‘da’ of ‘{na-adjective / noun] da’ becomes ‘na’.)] M T = because ~ /
LEILZ%EE’C = in Japanese /

%E‘?\ LTHELHZAT. = %E‘f\ LT H5ZX%, £ULT. =(X)deal with ... and | can receive a favor
from him and .... N

* %‘iﬁ LT H 5 X% = <plain-style-nonpast-affirmative> of %‘ﬁ LT H5ZAFXT =(X)deal

with ... and | can receive a favor from him

* %Eﬁ L &9 g3 =1 correspond, equivalent, adapt 2 deal with, cope with, keep up with

* [te-form] H 5 Z.F 9 = (X) do ~ and | can receive a favor from you = potential-verb of ‘[te-
form] © 5 WX 9 ((X) do ~ and | receive a favor from him)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
73 %X < =as much as possible /

5<

#7135 77> = comfortable plan
5<

73 = comfortable, easy /

%Z <direct-object particle> /

D &>

&>
FA U 7o\ = <plain-style-nonpast-affirmative> of ] L 7c\L\T9 = want to use (utilize, put to
practical use; take advantage of)
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* [masu-form] 72WL\CT9 = want to do ~ /
& <quotation particle> /
&b
B >7T W3, =<plain-style-nonpast-affirmative> of £ > T LW&X 9 = be thinking now

&b
*BWXY g1 =think/

Because the family members who go with him will experience the overseas life for the first time,
he is thinking that he wants to use the plan that the staff can support them in Japanese and the

one (plan) which is as comfortable as possible. &=

» DI

BHZ A =MrArita/
|& <topic particle> /

D&SLP

A. Btt =A, B both companies /
D <possession particle> /
E®D 77> =which plan /

%Z <direct-object particle> /
FhES FhES

RET L 725 L\ = <plain-style-nonpast-affirmative> of #&5f L 725 L\ LT = should consider

(think over, think about carefully)
FAhES Fh

&S
* 1%5F U 7z = considered = <plain-style-past-affirmative> of #&5F U £ 9~ g3 = consider, think over,
think about carefully, examine
* [plain-style-past-affirmative] 5 L\LWT Y = should do /

M <question particle> //

Which plan should Mr Arita consider among all plans of both a company A and a company B?

no translation
no translation
no translation
no translation

~AOWON=
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